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Instructions: 

1. Write your enrolment number on the top left of the question paper. 

2. Do not write any thing else on the question paper except your enrolment number. 

3. Attempt all parts of a question at one place only. 

4. Internal choice is given for question number 4 of Section B and question number 2 of Section C 

only. 

 

SECTION A  

(5Qx4M=20Marks) 

S. No.  Marks CO 

Q 1 Explain the basicity of primary amine, secondary amine and tertiary 

amine in water. 
4 CO1 

Q 2 Why is cycloheptatriene cation aromatic in nature? 4 CO2 

Q 3 Explain Resonance with example. 4 CO1 

Q 4 Illustrate reaction between an aldehyde and hydroxylamine in the 

presence of mineral acid. 
4 CO1 

Q 5 Why is the carbon-carbon bond distance in benzene in between the bond 

distance in ethane and ethane? 
4 CO1 

SECTION B  

(4Qx10M= 40 Marks) 

(Question No. 1, 2 and 3 are Compulsory); attempt any one from question no 4 

 

Q 1 Write the product with mechanism: 
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Q 2 Complete the reaction with mechanism: 
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Q 3 Complete  the reaction with mechanism: 
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Q 4 Elaborate the mechanism of following reaction: 

(i)  

 
(ii) 

 

  

                                                      OR 
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6+4 CO2 

SECTION-C 

(2Qx20M=40 Marks) 

(Question No. 1  Compulsory); attempt any one from question no 2 

 

Q 1 Elucidate the product with mechanism: 
10+ 10 CO3 
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Q 2 Complete the reaction with mechanism: 

(i) 

 

NH2
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(ii) 

 

NH2

+ CHCl3 + 3KOH ?

 

                                     OR 

 
(i) 

 

OH

CHCl3 + KOH

 
 
 
(ii)  

(𝑎) 𝐶6𝐻6 + 𝐶𝐻3𝐶𝐻2𝐶𝐻2𝐶𝑙 
𝐴𝑛ℎ𝑦.  𝐴𝑙𝐶𝑙3
→          

(𝑏) 𝐶𝐻3𝐶𝐻2𝐶𝑁 
𝐶𝐻3𝐶𝐻2𝑀𝑔𝐵𝑟 /𝐻2𝑂 
→                

 

10+10 CO3 

 




